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B T £ 1,522, 860
PEANIBA AT L 2 224,070 |5 =} V= 21 m
BAER Gr-C—4F 21mPA_L50mAT i s i 1 4
B ISR T S 1,298,790 |7° VoA bBhat LRt 18 m
(E_E%5)
AfE H=500 B=1800 ;
7" VA B R T 3 m
(& +10)
AfE H=500 B=1800 ;
X [E L 2 102, 703
X IR T 2 102,703 | ¥AmRhACK iR 310 m
RETFE) FE 15em JE 1. Smm HEKPE A LG 4

TAZIEE LN )R




== /oA = =
FER N E e
T4 | fEAR 3 SASHIX 3 B EUE 2 M TE
TEHX4y « Tfd - FER B Az £ & #A #m il BN
HEYE T = 2217, 357
s EEE L T = 129, 446 |27 -MEEWHUE L 5 m3
B EY FEWE T ;
ELERR O W 1 F2V
TAT 7V MEHEERR 15emPA T
A IR A 220 m2
TAT 7V MEREE R EHEERR)E b e m ;
TE LB T =Y 97,911 |BoE 5 m3
/) -hk (BRAD)
Stk 11 m3
TAT7 bk (HEED
RISy 5 m3
/) -hk (BRAD)
RISy 11 m3
TAT7 bk (HEED
SN AL T =Y 791, 450
S BLERESE T Y 791, 450 | G5 HE 1 =
FEhm 2y 1 F2V
MR 1 F2
A Y 547, 560
A ERE E T = 547,560 | ZZiEAFEEE S E 5 1 =
[ERAE Xy = 147, 906, 874
HiE = 23, 136, 400
BISTI S = 7, 384, 400
TE R = 5,730, 000 | B R AR /) AR AH T i 5 B 1 =

TAZIEE LN )R




== /oA = =
FEHEPER e
T4 | fEAR 3 SASHIX 3 B EUE 2 M TE
TEHX4y « Tfd - FER B Az % & #A iR
HeffrE sy =X 309, 400 | A4/ ohyA HERBRE 1 =
TH W % AT R 1 =
R R 1 =
BGRESGESE (5 L) = 1, 345, 000
B (FEEHL) = 15, 752, 000
Wi TR = 171, 043, 274
Bl g = 57, 179, 000
T =5l = 228,222, 274
— R A = 35, 027, 726
T =AM = 263, 250, 000
- 10 - E LA E UM T R




